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Lo Determriine’thie total pressure on acircular plate of diameter 1.5 m which is placed vertically in water in such
away that the centre of the plateis 2 m below the free surface of water. Find the position of centre of
pressure also.
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A rectangular plate 3m X 5m is immersed vertically in water such that the 3m side is
parallel to the water surface. Determine the hydrostatic force and the depth of centre
of pressure if the top edge of the plate is 2m below water surface.
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A rectangular plane surface 2 m wide and 3 m high immerged in water, it plan is
making an angle 45 with the free surface of water. The upper edge of rectangular
plate is 1.5 m below the free surface. Calculate the position of center of pressure.
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IerArredtilatéral trianaular plate havina 2.5 m sideisimmersed in water with its base coincidina with the free

surface. Calculate total force and center of pressure if, i) the plateis vertical and, ii) anale of inclination of
the plate with the free surface is 60.
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27 Arectangular gate that is 2 m wide is located in the vertical wall of a tank
containing water as shown in figure.2. It is desired to have the gate open
automatically when the depth of water above the top of the gate reaches
10 m. (a) At what distance “d” should the frictionless horizontal shaft be
located? (b) What is the magnitude of the force on the gate when it

opens? e e e e
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;ggﬁﬂww@@lar lamina 125 cm in diameter isimmersed in water so that the distance of
It’s edge measured vertically below the free surface varies 60cm to 150 cm. Find
the total force due to water on one side of the lamina,and the vertical distance of

the center of pressure below the water surface.
e Suwbeeto

A:.—r\‘]qdq— N ‘/\ = "\\ t A_é,
= Mex (2} L= “
- .22 w" - 66t

8
@
Lo= 66 o9 %0 )
= Q- 19 ML‘ = \.0¢ ﬁ\r‘\ 1€Q \')S
Y X

Toteed Pyersne (F)

GoCwm

A ABC SWnQ = Eﬁ-_

F- Qpay AR
= W0y A 10X V22 K108 S\n® = €uV-Go6_ 0.72
[ = 12Cu0-61 ) \2¢
@ = L((:'.O‘E)'
Cendne 0—6 P veattoe (W)
2
< Tosidg th = 0NAEMWLc o) 4 Lot S k_\qT = keoqgﬂ

h¢ {-22% {.0<

chapter-3 Page 6



